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UBIEERE 2,500 10,000 A7,500
OBl2iel JIYR S4B
2,500,002+ 141 2,500
IEEE e 110,644 0 110,644
= 30,000
Al 80,644
IEEES 110,644 0 110,644
= 30,000
Al 80,644
DS2SH a5 110,644 0 110,644
= 30,000
Al 80,644
201 2er2e| 9,844 9,844
01 AlR 22l 9,844 9,844
on2zsH =28 ME
6, 0002 #25525200H 4 3,000
ONISZEH YRR S2 N
8,00021x35]+82 122 2,304
OOISBEH AT M=
11,0002 1105 1,210
OSZAl OI2BSH 288 28
100, 000249223 1,800
OOIZSTEH H=OIX0IY HE 42
70,0002 4224423 280
OEIEER= T 850
-IISZEH 2SS S8 2L
50,0002+ 17%+13] 850
ONI2ZEH Y28t X2
200,00021+23] 400
202 048] 800 800
ETTT 800 800
OUIZSBEM 9138 L MOIL &
200, 000822423 800




S KISZH Dt
g ll=ssH 242
thel: DIS3SSH 243 (SH &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
301 LtENZ 5,000 0 5,000
= 1,500
Al 3,500
14 DBt 2 a=S 5,000 0 5,000
OntSZsH B2A 248 XA (0t
SH=CIN0IH EE)
500,000 «1H*10& 5,000
= 1,500
Al 3,500
307 212t01& 95,000 0 95,000
[ 28,500
Al 66,500
02 B A HE L 95,000 0 95,000
ODI22SH ST AM(E S2A)
65,000,000& * 14 65,000
= 19,500
Al 45,500
O#=ce S2REH NFA(E 2RA
&) 30,000,000 *14! 30,000
== 9,000
Al 21,000
M EZH g4t 915,922 1,047,638 131,716
[ 344,550
= 150,835
Al 420,537
A2l HBM=E 915,922 1,047,638 131,716
= 344,550
[ 150,835
Al 420,537
M RI gL (2X2FE NH) 450,500 581,317 130,817
s 309,550
S 20,650
Al 120,300
201 =3 7,300 7,800 A500
01 At22t2l] 7,300 7,800 A500
OAt2I XN gdat /33 =
100,000& x9& =22 1,800
Oget+=ZHI 1,000
AR BB HOIY 2tE s
1,000,000& %12 1,000
OALIEZ Ml Ot3LEI0l StEE 24E 29 4,500
-SEMEA & St A
2,000,000& *14] 2,000
St uly 30,0002 *50A 1,500
=298 228 78 1,000,000 *14] 1,000
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202 04l 800 900 A100
01 2LHoIH 800 900 A100
OAlIH)|gEd 08 & WSsEA
200,000 x22H+23] 800
301 EetE2 N = 2,600 2,600
4Bt 2as 2,600 2,600
OABIHZH OBHEI0l 2 MY
2,600,000 *14] 2,600
307 elztol & 439,800 570,017 A130,217
= 309,550
=S 20,650
Al 109,600
02 QIS ER 412,800 570,017 A167,217
OABIZIIY AR2IEE AlRl(LBroI2)
332,300,000& x14] 332,300
= 249,225
=S 16,615
Al 66,460
OMEHDIY |4 (H22H)
80,500,000 * 14| 80,500
s 60,325
s 4,035
Al 16,140
04 QIZHHAIAIRH 2 X 27,000 0 27,000
OAMSIRZH SOt &AL
27,000,000 13 27,000
ARl H MDD 3K 2 AL 21,600 42,720 A21,120
= 6,480
Al 15,120
307 @120l & 21,600 42,720 A21,120
=S 6.480
Al 15,120
02 QB HANEER 21,600 42,720 A21,120
OARIEZ MDY N33 A
21,600,000 *14| 21,600
= 6,480
Al 156,120
ARIEBHDIY AlEEHl XA 202,000 136,012 65,988
= 60,600
Al 141,400
402 2IZtA=01d 202,000 136,012 65,988
=S 60,600
Al 141,400
02 RIENEASEZ(0IETHR) 202,000 136,012 65,988
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Rl AR HEHEE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S EEE P ER I E TR
202,000,000& x 14 202,000
= 60,600
Al 141,400
KIS XHatet X2 AHS 5,000 5,000
307 @12t0| & 5,000 5,000
08 OIXt2d=S 5,000 5,000
OXISXtetet X2 AHS
5,000,000 * 104 2 5,000
HOIRH 0271 SEAY 70,800 80,900 210,100
= 35,000
== 10,500
Al 25,300
202 04| 800 900 A100
01 =LHO LI 800 900 A100
OO2IIZSY 228 U DSFA
200,000& x2E *22] 800
307 elztol & 70,000 80,000 10,000
= 35,000
< 10,500
Al 24,500
02 LB HAHE L 70,000 80,000 10,000
Odt=d 0t271d |54 X
70,000,000 * 14 70,000
= 35,000
[ 10,500
Al 24,500
dge 0I0ESo1e N2 A 20,000 40,000 220,000
= 6,000
Al 14,000
307 el2to| & 20,000 40,000 A20,000
= 6,000
Al 14,000
02 QB AHANEEX 20,000 40,000 /20,000
Odgd uiittElg 54 K&
20,000,000 *1IH 2 20,000
[ 6,000
Al 14,000
ARl EZH - D= SEXIZdH 146,022 0 146,022
= 46,605
Al 99,417
101 @124H| 27,194 0 27,194
= 18,570
Al 8,624
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33 ARIEBN gdat
=Rl AlRIHBMEY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M ORNZZENSE S 27,194 27,194
OJlZ=s 19,044
ANR=E 3,174,002 6@« 1H 19,044
= 13,224
Al 5,820
O=&H| 100,0002 1 +6E 600
& 360
Al 240
O=LH04HI 200,000 #5321 1,000
= 600
Al 400
OESEC RN
14,4303 *10AI2H+6E x1H 866
== 520
Al 346
Og&=g 3,047,000&x1H 3,047
= 2,285
Al 762
Q42 2,637
=83 23,452,800 *4. 5% 1,056
== 633
Al 423
-AY2E 23,452,800 *3.545% 832
= 49
Al 333
-HAIQRYEE 831,4012%12.81% 107
S 64
Al 43
-UEEE 23,452,800 *1.75% 41
[ 246
Al 165
~SHEE 23,452,800 *0.982% 231
= 139
Al R
201 ger= 3| 81,078 81,078
s 23,035
Al 58,043
01 At22t2l] 43,078 43,078
Oget=ZH] 9,578
-ANRES 200,000& *14] 200
-MEX 23,0003 3 Ax 123 828
S8 =d 500,000& 12| 500
MR A2S 827,000 *14] 827
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MBI EANSA
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-S| dE 7,223,000+ 14 7,223
OUERZA = 32,000
-EH0IX 7= 15,000,000 * 14 15,000
s 5,417
Al 9,583
-SMHO0IXl sXl2c| 15,000,000 * 14| 15,000
S 10,418
Al 4,582
“SUNJAXE 23 500,000 %42 2,000
OALZIHZ M Stote A X1 1,500
S0t dA 222, 2 MH
3,000,000 141 %50% 1,500
02 S5=2g4l 3,000 3,000
O8&82= € HA 500,000 <64 2 3,000
= 1,200
Al 1,800
03 A= I 35,000 35,000
OAlIHZMNDIY 882, H#Z X 10,000
-UR2 AHHEH 29
10,000,000 * 14! 10,000
Oobt=ssH N 20,000
-OtEeSSH A28 H=
3,000,000 #52] 15,000
=S 4,500
Al 10,500
-OISSSH A 2EE, 283 O3l
2,500,000& *22 5,000
= 1,500
Al 3,500
OARIEIIY XIJ 5,000
-ARIEBMOIE /3E Nz
3,000,000& %12 3,000
-ARRIEERDIY SHEdE s
2,000,000& %12 2,000
202 04l 1,200 1,200
01 =LHAHI 1,200 1,200
OUESIT P& 24X HXI0R
200,000 x32 *23] 1,200
401 Al HIZ R 0HbI 20,000 20,000
== 5,000
Al 15,000
01 Al&HI 20,000 20,000
OSSN cl2ead & AR 32t =4
20,000,000& * 14| 20,000
= 5,000
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T A EEH 43
Sl A EEHSS

SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 15,000
405 AtatE = 16,550 16,550
01 TR =S FSHI 16,550 16,550
OdlEl =23 FSHI 16,550
-AFH 1,250,000 «3CH 3,750
-y 200,000 *4H 800
2| % 200,0002*13H 2,600
—-83H| 200,000 *3CH 600
at=o 600,000 1CH 600
-IHHl s 300,000 «5CH 1,500
-OISNE 200,000 *5CH 1,000
-V 500,000 *1CH 500
k=Pl 50,0002 4CH 200
et =23 FHS 5,000,000 * 14 5,000
Hees(XSZH ) 4,320,000 0 4,320,000
WEHAHRE (XSS ML) 4,320,000 0 4,320,000
CHFAME 2ted KIXH &b 4,320,000 0 4,320,000
311 XS0l Aratat 320,000 0 320,000
04 XIYTHS2O0I Aot 320,000 0 320,000
OXISHLIIZ XS OIXE &Fs
16,000,000, 000 *2% 320,000
601 Xt =SS akE 4,000,000 4,000,000
M s St 4,000,000 4,000,000
OXNSEI= s Hs &
20,000,000, 000& *20% 4,000,000
HH2LZHI(ASZHD) 102,022 95,584 6,438
J1I=2dHl 102,022 95,584 6,438
JI23HI(XIS=Z A ) 102,022 95,584 6,438
201 el 40,822 38,974 1,848
01 At22t2lt] 40,822 38,974 1,848
Odgt=3=H| 23,198
JIEMNRES 100,000 23 2,300
RS = =] 150,000 *23] 300
-SADISA2LH(EH ® E837Y S)
500,000 x2CH*52] 5,000
-SAIEA 23,0003 x228t A% 123 6,072
-0 ZRIEItER|IXI(Ze])
237,000 x20H+63 2,844
-F=)HEs 28,0003 *2CH* 122 672
-JIEt==EHI(2 AR
300,000 * 122 3,600
-=&4 dIOIMEEHIELCIX
237,000 x2CH*53] 2,370
@r=] 17,664
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ool D= 2|

o

SA - ZE . BR() - HRAR - BES of v G o HIDE2
ESEEETTINp]
8,0003 x232+83|x 12 17,664
202 04dl 55,200 50,400 4,800
01 2L AL 55,200 50,400 4,800
OXNSB N R 2L 0]
20,0002 x232*102|* 12 55,200
203 gF=4| 6,000 6.210 A210
01 V|22 R=AH] 2,640 2,970 2330
OJIZSAZTY| (ZH LB A2E)
3,300,000 141 %80% 2,640
M RFAZHLRFEI 3,360 3,240 120
OXNSHB NI FA2E =8|
350,000 x 122 +80f% 3,360




